
340 + 250 = _______ 550 + 280 = _______ 860 - 390 = _______ 

970  - 640 = _______ 364 + 50 = _______ 937 -   80 = _______ 
 

 270 + _______ = 630            840  - _______ = 180         

 _______ + 290 = 710 _______ -  190 = 590  
 

570-10;zzz 680+30;ZZZ 

590-30;zzz 690+40;zzz 

610-50;zzz 700+50;zzz 

630-70;ZZZ 710+60;zzz 

zzz-zz;zzz zzz+zz;zzz 
 

a) 7*40; _______          b)  240:40; _______    

 90*6; _______ 320:  8; _______  

 3*60; _______ 450:90; _______  
 

c) 50*8; _______     d) 240:30; _______ 

 72:9; _______   70*  6; _______ 

 7*80; _______ 1000:100; _______ 

 

a)  _____       *2       _____     :60     _____     *80     240 

b)  _____     :70     _____     *40     _____       :6     20 
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8*80+50;zzz 7*60-40;zzz 

6*30+  3;zzz 5*80  -5;zzz 

 

 

               

               

               

               

               

               

               

               

               

               

               

               

 
 
 
 
 

/ 41 

/ 4 

/ 8 


